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No. of Questions : 150
gyAl @Y AT : 150

Time ; 2 Hours . Full Marks : 450
waT ;2 902 qoTlE : 450

Note : (1) Attempt as many questions as you can. Each question carries 3

(Three) marks. One mark will be deducted for each incorrect
answer. Zero mark will be awarded for each unattempted
guestion.

_ ot & Ew Ot @ A H | waw g 3 (d)
mﬂm%lmmag—ﬂ%ﬁ?ﬁaﬁwaﬁwa
g ST S99 W WA g gy :

(2) If more than one alternative answers seem te be approximate to
the correct answer, choose the closest one.

uﬁqmﬁﬁ&mﬁqﬁmﬂﬁw%ﬁmmﬁ,ﬁw
& 3O T '

01. The slope of the price consumption curve (PCC) for a normal good

o02.

will be : ,

{1} Negative (2) Vertical

(3) Backward {4) Positice
ﬁmﬂm%ﬁt{aﬂﬂﬁmmﬁaﬁ@ﬁ:
(1) IR - (2) IS

3) @@ @ AT (4] THAHR

Engel Curve shows that with increase in money income the qua.ntity
bought of a normal good :

{1} Increases atan increasing rate
(2) Increases ata decreasing rate
(3) Decreases

(4) Remains constant

3 PITIOb
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03.

&ﬁﬂaﬁwaﬁﬁmt%maﬁmwmaﬁﬂﬁaﬁﬁ
T A

(1) et 2§ o B (2) =edft a7 & 9z B
(3) =9 &H ¥ 4 e =@ 2

The second glass of water generaliy gives less satisfaction to a thirsty
person. Which law explains this ?

{1} Law of demand

(2) Law of diminishing returns

(3) Law of d.iminiahing marginal utility

{4) Law of equi-marginal utility

Uh TR DT B O g P e HRE 23 B 1 3w
AT feed e 3 ormmfer oyt & 7

(1) w7 @ frs {2) ATz Prem

(@) W SR B Pew (4) an-dor IR Prey

Demand curve for a Giffen good will be :
(1) Horizontal (2) Vertical _
(3) Sloping downward to right (4) Sloping upward to right

PfteT gart @0 57 9% g -

(1) &feor (2) STgers ,
(8] T AR A Prear gor () TRt S Y Fsar ga
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05. Consumer's equilibrium point is that where the budget line :
(1) is above the indifference curve
(2) is below the indifference curve

{3} is tangcnt with the indifference curve

(4) intersect the indifference curve

SqiET ® G W faeg ag ¥ STl woTe T
(1) IRTEEAT 9% & I E

) S 9% & | R

(3) wﬂﬂmaﬁaﬁmmﬁr%

(4) SaTfEn @ g EE ¥

06. For an inferior good, the income elasticity of demand is :

{1} Positive : (2) Zero
(3) Negative (4) Infinity
gty Ryt B Rre o T A AT g

(1) GATHE () 99
(3) ST , 4) =

07. The elasticity of substitution between perfect substitutes will be :

(1) Zera (2) Greater than zero
(3) Less than infinity (4} Infinity
wwaﬁﬁ%mm%ﬁm?ﬁﬁ:
(1) IS ) 9 Y ATNE

(3) S/ 4§ FH (4] <

8 P.T.O.
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08,

09,

10.

If elasticity of demand is Unitary, marginal revenue will be :

(1) Positive (2} Negative
(3) Zero | (4) Infinity
GRS S R-C o R T D o — BT
(1) Y9IHS (2) FOTHE
3) = (4) ST

Average prodﬁct will be the maximum when :

(1] Marginal product is less than the average product

(2) Marginal product is greater than the average product
(3} Marginal product is equal to the average product

(4) Marginal product is negative

AET T ety B W

(1) A 3w, ofrerT Sam @ w9 ¥

(2) W Fwre, ofre SwT @ otfirs B

(3) dwra I, ofm 9w & g &

4) T ST e §

In which stage will a rational producer produce when operating under
the law of variable propartiong ?

(1} First stape (2) Second state
(3) Third stage {4) All stages

wﬁﬁmﬁmmﬁamﬁuﬁ%ﬁmaﬁﬁmmﬁ
IR HIAT FqE ?

(1) SoH ey (2) TEfT orawen

(3) T e (4) it e
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13.
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According to the Cobb-Douglas preduction function, the factor

- elasticity of substitution is :

(1) Infinity (2] Zero
{3) Equal tounity {4) Any positive constant

m—@mmqﬁﬁw%mmﬂ-qﬁﬂmﬂaﬁﬁﬁﬂ%
(1) (2) LA
13) TR B U (4) g @t eeRE R i

With increase in output which cost increases continuously :
(1) -Average cost (2) Marginal cost

[3) Fixed cost (4) Variable cost

mmﬁqﬁ;%mﬁm—mwﬁ?maﬁ%?
(1) <frgd @R (2) HH AR
(3) fex @ 4] gREcHEE S

In the short run when the output of & firm increases then its average
fixed cost :

(1) increases
(2) decreases

(3) renains constant

{4) first decreascs then increasecs

Wﬁmmﬁﬁmm%ﬁa{eﬁ@mﬁmm:
(1} Fgdl 8 (@) TWed ¥
@) Pt ekt B (41143%1?11?5?1%5{&3??(%

7 P.T.O.
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14,

15.

16*

Which of the following curves is not U-shaped ?

{1) Average cost curve (2) Marginal cost curve

(3) Average variable cost curves (4} A:srcrage fixed cost curve

ﬁmﬂﬁaﬁmﬁr’@wuaﬁ?%ﬁraﬂ#ﬁﬁm?
(1) e army Y=y (2) T aew e
(3) a%ﬂaﬂﬁaﬁwaﬂamﬂamm e Reax A @y

The concept of marginal cost is related to which of the following ?

(1} Variable cost (2) Fixed cost

(3) Opportunity cost (4} Economic cost
mmﬁﬂmﬂmﬁmﬂﬁﬁmﬁ:m%?
(1) qREdwsie @ () T sy

(3) FHTET & (4) anffs s

Which of the following curves €Xpresses price per unit P

(1) Total revenue curve (2) Average revenue curve
(3) Marginal revenue curve {4} None of the abaye
ﬁwﬁ_ﬁm—mmnﬁ‘f.ﬁim#mﬁm%?
(1) T ™ T (2) o srm o
(3) €T S R 4) = & § 5 w7
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18.

19.
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Which is the first necessary condition for a firm to maximise its profit 7

'M#ﬂmmﬁqaﬁ%mqﬁmsﬁw%?

(] AC=MR (2) MC=MR (3} MR=AR (4 AC = AR

The horizontal line under perfect competition €Xpresses :

(1) Average revenue (2) Marginal revenue
(3) Price (4) Al the above
quf R & SRR FHEY Yoy = &l 8
{1y h\a & (2) T AT
3) W= (4) Sodwa W

what will be the shape of the demand curve of a firm under perfect
competition 7 |
() Harizontal (2] Vertical

{3} Positively sloped (4] Negatively sloped
gﬁnﬁﬁfﬁm%aﬁmﬂﬂmﬁﬂﬁﬁ-ﬁa&mﬁf%ﬁaﬁ?
(1) &R (2) SIS

(3) TR TIET (4) FOMCTR PR

To induce a firm to produce in the short run its minimum price will
be equal to ?

(1) Marginal cost (2} Average variable cost
(3} Average fixed cost (4) Average total cost

9 P.T.O.
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21.

(1) HEm= &P (2) <hea aitad=ste arm

(3) shoe Rex anm (4) ofraa H= arm

Under what condition the effect of dem.and on price will be greater ?
(1) Short period {2) Market period

(3) Long period (4} Secular period

AR W W 9T St e The Rty # BT 7

(1) Hm (2) W= swEfy

(3) Erefeprar (4} fr-difepr

A monopolist always determines output at that level where the
elasticity of average revenue curve is :

" (1) Less than one (2} Equal to one

23,

{3) Greater than one (4) Zero

Price-discrimination will be profitable if in different sub-market the
elasticity of demand is :

(1) Same {2} Different
(3) Less (4] Zero

10
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.aﬁlﬂﬁ—ﬁﬁﬁaﬁgﬁﬂmuﬁmﬂwmﬂmﬂﬁﬁﬁﬂﬁm%:

(1) TH "§HHA (2) I

(3] =H (4) TH

Who had propounded the concept of selling cost ?

{1} Alfred Marshall (2) Edward Chamberlin
(3) Edwin Cannon {4 Joan Robinson
frsr—eTTE @Y OTCow e Read Rear ew ?

(1} TEhs ATSie (2) oza¥ AT

(3) wefae H (4) wF ofEs

What is selling cost from the following :
(1) Expenditure on packing

(2) Transportcost

{3) Expenditure on advertisement

(4) Wage paid to the labour

Ry 8 & Popg smrd T B 7
(1) FET 9T | (2) uR@es =9
@) REmE 9T &3 (4} AR @ & T Al

Fram the following what is net correct regarding oligopoly ?
(1) Indeterminateness of demand

{2) Price competition

(3) Price rigidity

(4) Interiicpcndence

11 P.T.O.
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27,

TNHT & wag A Prsr 3 § o7 9d 4 & 7
(1) Hrv-am H R (2) Ha glraie
(3) =HET g (4)  erafavET

What is not correct regarding assumptions of adding-up problem ?
(1) Constant returns to scale (2) Applicable in the short-run
{3) Perfect competition (4) Risk-free static economy

HHSTT T Y ATt $ W ¥ wr gd ol & 2
(1) ¥rd & e wfaes

{2} rEIEEr F @Pg

(3) 9o uirfer

(4) e e it ovefereay

The marginal revenue productivity of a labour for a firm expresses ;
(1) Marginal cost of a labour

(2) Demand for labour of a firm
(3) Increase in the marginal productivity of a labour
(4) Marginal wage
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30.

31.
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Rent is paid because supply of land is : _
(1) Perfectly elastic (2] Perfectly inelastic

{3) Elastic {4) More elastic

T T R Smen @ Fi 9fy @ gt #

(1) . gelaar dEErR (2) gefaEr Aa=RR

(3) = (4) ot sreETe
Change in prices affects :

(1) Gross interest {2) Net Interest

(3) Real interest rate (4} Nominal interest rate
A 7 qREe g weer

(1) el & (2) = 4N A

(3) arEEE =\ ST @ #Afews == ==

If two goods, X and Y, are complements, an increase in price of X will
resuitin a:

(1) Fall in demand for Y
(2] rise in demand for Y
(3] rise in demand for X
(4] Nochange in demandor X and Y

g T o X A YOE O D TF & o X & g9 # g 519
qY : '

(1) Y &t = ARel

(2) Y @ A a3

(3) X @ "1 @

(4) X SNz vy = 81 § Hig qftad= w1t &

13 P.T.O.
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33.

In a household's income increases, other things remaining the same,
its demand for a commodity increases. The increased demand can
be shown by :

(1) Movement along the demand curve

{2) Rightwards move on the demand curve

{3) Leftwarda move on the demand curve

(4) Rightwards shift of the demand curve ‘

ofy Ty o ¥ ol ¥ o o i gy e ¥ aw avg
it 3 wgrdt ¥ ) aag @ g S @ el B oo @ ¥
(1) ST=IT Y A6 @6 & =

(2) WFT 7% & UEe g8 gy

(3) W as B AR I 9X

(4) WO ZE B T Ak & gfacte #Y

When a household's income changes, its budget line will alao change.
The new budget line :

(1) Will be perpendicular on the original

(2) Will be parallet to the original

(3] Will coincide with the original

(4) Will intersect the coriginal

g Uiy WA F gitEd fon B O et s e o afteeds S
¥ ¥ woe Fmyw Bl |

(1) & 9T &= 8O ) 9% F EHFEFEET A

(3) I | By o (4) o A

14



34.

35.

36.

15P/239/31

If more is demanded at the same price or same quantity at a higher
price, this fact of demand is known as :

(1) extens:on of demand (2) increase of demand

(3) contraction of demand {4) decrease in demand

nﬁaﬁrwwmm%mwwwaﬁw T A
H T B A AT B

(1) = T e (2) wiT @ g
(3) T /I FHgerdd (4) =T # RrEe

A firm's fixed inputs include :
(1} its cash depesit at the bank
(2) its plant and m:juipments
(3) its work force

(4) raw materials purchased from other firm

oy @ T B AT oMb ¥
(1) S & g S _
(2) FWF e @ [T
9P Fd B g q9eY
(4) O HEl | FEE q@rEl @ s

Average [ixed cost :

(1} remains the same whatever the level of output
(2} increases as output increases |

(3) diminishes as output increase

(4) shows no pattern

‘15 P.T.0.
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a7.

38.

39.

Naa wE AR

(1) s OFH-T @t & I o S8
(2) ¥@T IWEA F T IgAT B

(3) T IMEA D T geq B

(4) Fr% qRgdw s=Rfa =@t wh &)

Who has written the 'Economics of Welfare' ?

(1) A.C. Pigou {2} Nicholas Kaldor
(3) Vifredo Pareto {4) Lionel Robbins
‘g ST avhae Reas zro el e

(1) w.H. fmg 2) Toea $e=T
(3) Rrdsr ot (4) PEve TR
Who propounded the Risk Theory of Profit ?

(1) Hawley (2) Frank H. Knight
{3} J.8. Bain (4) P.A. Samuelson
Ty oY 3t e’ e ar ofearfge o = .
(1) (2) Wiw Og T
@) %o wdo ¥ (4} Wogo FegFe

‘Rent is that protion of the produce of earth which is paid to the
landlord for the use of the origional and indestructible power of the

8oil’.

Who has propounded this definition of rent ?

(1) Alfred Marshall {2) David Ricardo

(3) dJohn F. Due (4) Mrs. Joan Robinson

6
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T & I9gF 9REnT BRew ERT qRaiRd & T 7
(1) SrFhe HIST (2) -BfrE RepiEy
(3) SV O% g9 (4) Trdw ofa =

Excess demand can be defined as :

(1) Quanitity suppiied minus quantity demanded
(2) Quantity demanded plus quantity suppiied
(3) Quantity demanded minus quantity supplied
(4) Quantity supplied plus quantity demanded

afates wir @ qfvafye By o @ 8 -
(1) =T & gff oF 7 & =T
(2) AT & oFET oF gff w5 g
(3) wsT A Wit e gfif 7 s
(4) == # OgRt o Wi owr g

Il elasticity of demand exceeds unity, a fall in price :
(1} Reduces total expenditure (2] [ncreases total expenditure
(3) Does not affect total expenditure (4) Leads to no expenditure

ai% A # = & A5y Fed &, O 9 F PEe
(1] %F =g e B

(2) %o =9 @ ¥

(3) T =T 9T g AT TE qFen

(4) @ T - T

17 P.T.0.
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432. An input-output isoquant assumes :
{1} Perfect substitutabililty of factors of production
(2) Strict complementarity of factors of production
(3) Limited substitutability of factors of production
(4) Continuous substitutability of factors of production

0 §S-HAIGeYE SFHgee B ¥ -

{1) SWRA F BT @ QUi qEEreyfRed
(2) SWEA & % & Rew wrafmid
(3) IUEA F HT 6 PR geafeglash

(4) IO F T W Dfelrge wsafegfed

43. The firm's MC curve above AVC is alsoc known as its :

(1) Prodcution [rontier (2} Optimum output
(3) Supply curve (4] Cost function
wh o T ar ol @ S ¥ R o omen B
(1) " mieat (2) SiewH FEEyE
(3) oyff aw (4) T HEET
44. A factor has no economic rent whose supply is :
(1} Equal to unity {2) Perfectly elastic
(3] More than unity (4} Perfectly inelastic
TF A N P FidEm gw T e ¥ Iue Snghf 8 ¥ -
(1) =& & TOeEe (2} yofear @
(3) AET & S (4) ol e

18
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45. The MC curve reaches its minimum point before the AVC curve and
the AC curve. In addition, the MC curve intersects the AVC curve and
the AC curve at their lowest point. The above statement are both true :

(1} always ~ [2) never
(3] often (4) sometimes

HHT @URT 9 ST gAad Tag 93 Il aREes ar a@ ®
qedt qgeaT & dErd an, shea uied @ as @ dear € Y
e @ @ ST gwad fasg o SudE S FEE A R
(1) s 2) A &
{3) =Wt wHe 4) T[T A

46. With a constant money supply. If the demand for money decreases,

the equilibrium interest rate and quantity of money will change in
which of the following ways ?

Interest Rate Quantity of Money
(1) Increase Decrease
(2) Increase No change
(3) Decrease Increase
(4) Decrease No change

I Re wEr & Off B @, TR & H5E A w1 e @ "rg s
a¢ o g # A & Frefafea & & Fee ger ofteds g ?

LI L T A AT

(1) Fh= i -
2) F& @ aRadw T
(3 = gra :
(4) = Fg gfads a1

t.19 P.T.O.
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47.

48.

If an economy is operating with significant unemployment, an increase
in which of the following will most likely cause employment to increase
and interest rate tc decrease ?

{1} Purchase of govermment bonds by the Central Bank
(2} Transfer payments

(3) Government Expenditure

(4] Increase in Reserve Requirement

A H srdegay FeaEyet (fts) IO X =l wR @ & oA
T & A Jorme ' A ghe aor =nw 37 | ot @ ged §ee
HIOT B WFHaT & 7

(1) &5 9% FGru G avs & B
(2) HEWEATT I

(3) W =g

(4) Tord smavaswar & gha

Which of the following is NOT a feature of New classical Economics ?
(1) [t believes that equilibrium is a normal state of affairs

(2] It is based on general equilibrium analysis

(3) It takes the assumption of adaptive expectations

{4) It talks about supply side business cycles.

Frefafes # § 29 o anils sl ot Rrdiwar st & -
(1) 9% 79aT B 6 urw o Mg ot

(2) T& AWTY Hged FseEer o smaia B

(3) I% WHY q¥Y TN P HEEET adr B

(4} T& Ot 99 =R w6 9y eqgTT W # OSt wvr ¥

20
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S Y
If Average Propensity tc save (s/y) is given b}"fﬂ., +a, 3 where,

S = saving, y = Real Disposable income, ¢ = Prerious peak Income, a_
and a, = coustnats, it shows :

(1) Llife cycle Hypothesis

{2) Tobhinis Wealth Hypothesis

(3} Dusenberry's Relative Income Hypothesis

(4) None of these

aft shaa g=a wafy (s/y) = =7 F Rar # %aﬁa.% et
S = 99d, y = ANdE® A g AW, ¢ = Usar 3= oy ' @
ao @M a, HEY ¥ O 78 WaRia Har ¥

(1) STE= =6 qitEea=n

(2) =ffRm @t o= dufe TREHer

(3) =goE TN &t GmfdE g ORI

4) Sudea ¥ § FHE @

As per the New Keynesian Rational Expectations Approach short run

Phillips curve is :
(1) Vertical {2) Horizental
(3) Downward sloping (4) Upward sloping

AT Fdm PR T g & FTaTT STeamE el
F aar B

(1] F&H (2) @i

(3) = B A e gen (4] HUT FSAT BAT

21 P.T.O.
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51.

52.

When an economy is at full employment, which of the following will
most likely create demand pull inflation in the short run ?

(1) An increase in discount rate

(2] A decrease in real rate of interest
(3) A decrease in government spending
(4) Both 1 and 2

afe &1 srefoqeeen ot Jomme w@X o7 ¥ o) Prefaiae § § @9 9
G gar o B oEmw F A F waifyE R HRer & ?
(1) =2 A =X § gfx

2) wTEIEAE [ g H FHA

(3) WP =g ¥ )

(4) 1 9g 2 gt

Which of the following National Income Identities is NOT Correct ?
(1} NNP,, = NNP,, — (Indirect Taxes + Subsidies)

(2) NNP,, = GNP, - Depreciation _

(3) NNP,. = GNP, - Depreciation - Indirect Taxes + Subsidis

(4) Al are correct '

TS AR | Heifew Freafafan & & A ol a8 ¥ 7

() W = ., - (R T - waEfhd)

() o . -Gﬁ.tm.!ﬁ.“n - B9 =g

@ oA o, = Red, - 5 o - s T +
LLILEY

(4) w9 wét B

22,
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83. The classical Aggregate Demand Curve drawn with respect to price is !
(1) Linear
(2) Vertical
(3) Downward sloping Rectangular Hyperbola
{4} Uncertain

e & dad & wren T qreEg @A AT A e ¥
(1) YT

2y S

(3) S 2 ot Frean 5o AT SIEEE I
4 siFEE

84, As per the permanent income hypothesis Cp=k(i,w,n} Yp where i, w
and u denote :
(1) Income, wealth and utility
{2) Rate of interest, wealth and taste & preferences

(3) Rate of interest, Ratio of Non human wealth to income and taste
& preference

(4) None of the above

I T GRERTT & SR Cp=ki{i,w,n) Yp 8T p i, w T u HoT:
mafdfe e ¥

(1) o, dufa o TR

(2) = =X, HuRe oar ®E o ¥

(3) ot we, WX WIAE EOReT OF ofTq T ST e R we
(@) STdeE /g

: 3 PIT.u-I
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55. The slope of the line drawn from the origin to any point on Keynessian

57.

Consumption Funcuon Curve shows :
(1) Marginal Propensity to consume
(2) Slope of the Consumption curve
(3) Slope of APC curve

(4) Average Propensity to consume

T o @ SIS wem 9% gv diel o bt Yar @ g
wafeiea s ® -

(1) #mrT g gafer (2) IUERT FEH B FT
(B) wdL#. (N.3.9.) M aw @) ohaw Igsm ggfe

The New Combined Consumer Price Index Service in India prepared
by C.S.0. use as base year :

m.qa.aﬁ.mamaaniatdawmiﬂww
99 & w9 H gnT FHear B

(1) 2004-05 (2) 2010 (3) 2000-01 (4) 2014

As per Bent Hansen's Double Inflationary gap model monetary
pressure of inflation exists if :

(1) Goods Gap > 0 and Factor Gap <0
(2) Goods Gap < 0 and Factor Gap<0
(3) Goods Gap > 0 and Factor Gap >0
(4) Goods Gap = 0 and Factor Gap =0

24
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Te Yrae @ - oTAUR WTEY B OTgEIY TR B RS
ZaE a% Ao Eal & o9

(1) aFg F=aE 2 0 U7 {97 Faw <0

(2) TG FAUH < 0 TT HYA FAAA <0

(3) a%g SR 2 0 dF WHA U > 0

(4) aE] ST =0 U9 WEH S =0

58. According to the monetarist theory of inflation 1n any

dp/dt  dM/dt | dy/ds 2 .
gconomy : TV -p v where P= Price Level, M = Supply of
money, y= real income. Here f§ shows:
(1) Price clasticity of demand
(2) Income elasticityu of demand for money
(3) Rate of growth of the economy

(4] None of the abave

B & i Rraia & orgad e srisren J dP;d‘=1ﬂ":ji{lj_ﬂdy;dg

SE P= WA WY, M‘=§maﬁgﬁqﬁy=aﬁﬁlﬁma€!ﬁ
qafafe wear & -

(1) wFT 9 A A (2) T @ AT A STE A
(3] Ademaem & faeRE B X (4) Uiy § & g A

£9. Which of the following truely reflect structural unemployment ?
(1) New entrants into the labour force have trouble finding jobs
(2) Works are laid off because aggregate demand has fallen
(3) Warkers do not have information about job openings
(4} Workers loose jobs as their skill are no longer in demand

2 5 = PlT‘Ol
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61,

Frfafere & & & ataeem I @ 9w d =55 s

2

(1) =% R 7 937 FH AW T B DI 9 TR
T ¥

(2) HI AT B wE § Freow AR B Ao F Preww R
T o ¥

(3) =frEwt M AT SuwerAr # gET W et

(4) qﬁﬁmﬂwwﬁqwmtﬁamﬁf@mﬁ
o Tt S

Under a fractional reserve banking system , banks are required to :
(1) Keep part of their demand deposits as reserves

(2] Expand money supply when requested by the Central Bank
(3) Keep the volume of credit constant
(4) None of the above

% IS o gomelt # ¥t @ R o amavas ¥ R Ay
(1) 9 9FT o T O fer Aol @ wg & v

(2) F &% 3 ST O g o o F ghe

(3) A’ = A7ET Fr Rew @

(4) Iq0E F O I Gt

The classical economists argned that involuntary unemployment
would be ellminated by :

(1) Increase in aggregate spending

(2) Increase in supply of money

(3) Self correcting market forces

(4) Reduction in corporate income tax
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g arfanfeardt 3 g% @@ Ran B omifess ST X & S

g

(1) 99w =4 ¥ g g

@) T A G A g =

(3) @Y gurT FTA Al e H AfErEr g
(4) @AORE A wT A FH A

if a commercial bank has nc excess reserves and the reserve
requirement is 10 percent, what is the value of new loans this single
bank can issue if a new customer deposits ¥ 10,000 ?

{1y T 1,00,000 (2) % 50,000
(3) 710,000 (4) T 9000
IR P EataE 3% & 9 o sl Red 98 & aur oS

frord 10 ofee ¥ ot af R e 10 € 10,000 S F ST AT
A ¥ oY ©F o S e 4N WO ¥ 9 B 7

(1] ¥1,00,000 (2} ¥ 50,000
{3} ¥ 10,000 {4) 9000

Direct tax multiplier that shows the ratio of a change in income to a
change in direct taxes is given by :
SeTe T OIS N T § it qur e H F afteT & s
F weRfa wET & TS ST B - -

b b -1

1
13 @ 15 B % @

27 P.T.O.
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64. According to Keynesian analysis, il government expenditure and taxes

6b.

66.

are increased by the same amount which of the follawing will eccur -
(1) Aggregate demand will increase

{2) Aggregate demand will remain constant

(3] Aggregate demand will fall

(4] Aggregate supply will increase

FaT BT & AER o ' &Y ud Y # /6 aE 8
e #t SRl ¥ o Pr=ferien F dw-ar swe ag= @

(1) &=™ §5f1 & gha &Ff (2) H&E AW ReER @

(3) wWHE b7 # wely Enft (4) 9w g 7 gfa @

If the real interest rate is S percent and nominal rate of interest is 7.5
percent the inflation rate must be :

q&mﬁmmnmmmﬁmmn?.sﬁa%ﬁ@mﬂﬁ
W T BT =IfRg

(1) 10% (2) 24% {3) 2% (4) 2.5%

Other things remaining unchanged the uncrease in expectations of
higher income would cause ME] courve to :

{1} Remain unchanged (2) Shift to the Right
{3) Shift to the Left (4) Become Steep
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=g gt & "@HE @A 9T e A9 P QeI B BT TH.E AE.
(ME) @ :

(1) omfafkta @ (2) afEAT X e &
(3) =18 oY REeniva EFm (4) IgU BGT AN

As the economy nears full capacity, the short run agregate supply

curve :
(1) Becomes steeper (2] Becomes Flatter
(3) Shifts to the Right (4] Shifts to the Left

Y- arefergen gui THAn AT FIET R ¥, TR q9T
o’ T -

(1) S&m Bl Al ¥

(2) @y & s 2

(3] FMeN ofiT farenfua & ot #

@) =t oY R @ o 2

If the number of people classified as unemployed is 20,000 and the
number of people classific! as employed is 2,30,000 what is the

unemployment rate ?

ofr A B = F afigpa @t @ HeAr 20,000 qeT AR H
T o & @y | it ST @ S 2,30,000 B Y SO A
g T g !

(1] 8% (2) 8.7% {3} 9.2% (4) 11.5%

29 P.T.O.
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69.

70.

71.

[f the economy is operating at potential GDP, an increase in the money
supply will lead to : ' ' '

(1) Stagflation (2] Structural Inflation
(3) Demand side Inflation {4} Supply side Inflation

i SyefeyaeeT Hehe U ICIE WT 9 HH HT W ¥ o 7aAr @ gy
# ghe ¥ oftwmm @y I okft ¥ 2

(1) SeeETg T (@) HEEE

(3) =T AR iy (4) oiRt oeT ity

An increase in government spending with no changes in Taxes leads
toa:

(1) Lower price Level (2) Higher Bond Prices
(3) Higher [nterest Rate (4) Both 1and 3 '

wC & el gfe & B wiad = 7 i awl gfg @
Fr=teiRas oo 8T §

(1) P gima =7 (2) I=a qUE FHHEA

3) T &\ =X (4) 1 og 33+

The CPl {Base year 1987)for 1990 is 120, for 1991 is 125 and for

1992 is 130. If the base year is changed from 1987 to 1992 what does
the CPI for 1990 become ?

1990 & Hedlo o (1987 & MR ¥ & @ry) 120 ¥ s&fs 1091
% R 125 e 1992 & fare 130 &) of e af 1987 & qiEfsy
HT 1992 T BAr ST & 1990 F1 HoflonEo fasamr &nm ?

{1} 90 (2) 923 (3) 108.3 4) i10

30
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72. The quantity of money demanded varies :

73.

(1)
(2)
(3)
(4]

Directly with both prices and output
Inversely with bath prices and output
Directly with prices and inversely with output
Inversely with prices and directly with output

ﬂﬂﬂﬂﬁmﬁﬂm%:
(1) Hwa o IOREA WY " I B9 8

(2)
(3)
(4)

HHa T IEIET @Y @ 9% wOneE &9 4§

L & oY GAE de IJeEA WY & § WO 89 4
FHT & G HOTHE AT IqRA W & 9 9ARs 89 8§

Supposc the interest rate is 7 percent and a bond with an annual
coupon of Rs. 75 nature in one years time, paying a face value of Rs.
1000. This bond's current price is :

(1)
(2)
(3)
(4)

Less than Rs. 930

Rs 930 or more but lessthan Rs, 970
Rs 970 or more but less than Rs. 1000
Rs. 1000 or more

o & P =St X 7wt ¥ ofR o ame R aiffs FaT Fo
75 & o af 4t iy # ofued @G B q@r oY ... FE O Wo
1000 ¥ &1 wrw 2@r ¥ 59 SO W FAHE T ¥

(1)
(2)
(3)
(4]

T. 930 W | HA

®. 930 a1 IEY fuE BAg 5. 970 § FW
§. 970 a1 SHA ftH BAg 6. 1000 § HH
%. 1000

31 P.T.O.
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T4. Which of the following is NOT a function of fiat money ?

785.

76.

(1} A standard of doferred payment (2] A unit of account

(3} A source of intrssic value {4) A store of value

Frftifea # & @ 521 o Saw T B 7
(1) RERR P & s (2) &9-39 35 3
(3) <iTYE =™ W & (4) T €= A

The GDP of a country is Rs. 24,000/ - Supply of money = Rs 3,000 /-
Price index = 120 and Demand for money = Rs, 3500/-. What will be

income velocity of circulation of money in this economy |
(1) 200 @ 7
(3) 8 (4) Can not say

TF 3 B Modledle §. 24,000/- g7 # G . 3,000/ Bww

THF ~ 120 T a1 H AT 5. 3500/- 56 svefeEen § quy oy
WG S ARy =y a7

(1y 200 () 7
3y 8 (4) T AE FFY

The domain of definition of the function fix) = log | X} is:

B flx) = log |X{ 3G SH 3t gftamsT 2R -
(1) R 2} (=0 @) (=) 4 R-[o]

32
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78,

79.

15P/239/31

The range of funcuen fix) = |x-1] is:

BT f(x) = |x-1] B g I & o
(1) (~=.0) 20 {0.) @ (o.1) (4) R

I fix) = log 2 (logx), then f(x) at x = e is
afE fx} = log,2 (logx) & &, Tx), x = e IT &M -
1 o 2 1 3) ¥ 4 Y

Given f(x) = 4x8, then .

X fix) = 4x8 @ :
m o(5)=r (%) @ (5)=-r(%)
@ f(-%)=r(%) 4 (%)=t (h)

1-%* dy
a (15) @ &

4x? 4x 1 -4y’
T C R e S & Mo @

33 P.T.O.
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82.

83,

. -
3
d I X x-2 A
ax| B (73 [ lequals
4 1iogder EJ%r
x| B¢ e ST B
x2*1
Ol @ 1
e+l o X1 =1
(3) x4 14) ﬂ{"2 "4}

2
fm‘dx will be :

2
ooy~ @m -

et -1
it @ ]

(1

-1 +C |

@ () 4 (=)

If X+Y = 8, then the maximum value of XY is:

A% X+Y = 8 W, XY & ey w7 #e
(1) 8 2) 16 (3) 20 (4) 24

34
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The minimum vatue of the function f{x} = ox’-21x +36x-20 is

B () = 2%x -21x +36x-20 F LAY A EW
(1) -128 (2) -126 (3] -120 (4} -110

For function Z = ¥?.v? +XV + 5X with constraint X-2Y =0, the optimum
values of X and Y will be :

Bd T TEd 2 = XV +XY + 5X i @l X-2Y =0, & X W
¥ & ey A e

1) X=1,Y=2 2) X=-1,Y=2

3 X=1,Y=-2 (4 X=-2,¥=-1

1-1 al

are .
Nia B at) e 2 ey
A=), ) B= HJﬁﬂT (A+B) =A? +B* & a T b & AT B

(1) a=4, b=l (2) a=1, b=4
(3) a=0, b=4 4) a=2, b=4

]
If A =L_ﬂ such that A'=1, then :

B3 T A=H_E] 3 vERs A= [, O9 W BT

(1) t+a’+py=0 2) 1-a'+py=90
(3) 1-a*-Py=0 (4) 1+’ -By=0

as P.T.O.



15P/239/31

88.

89,

90.

91.

5x -
A vo and A=A, then :

aRx A{i;] # Rig A=a" 4,

(1} X=0,Y=5 (2) X+Y=5
(3] X=Y (4) X+Y-=18

[ A is an invertible matrix, then which of the foliowing is NOT TRUE >

A e A i e @ e ¥, q e § A @9 1w G
TE B ?

(1 (aY)'=(a") (2 14" = Al

B (AT)'=(a") 4) |A|=0

S ab] o
[f>= cdj then adj A is :

b
afg S=[:d} T adj A 80 :

—d-~b Fd-h db de
(1) -¢a (2) L—c a (3) ca (4) ba
The sum of deviation of a variable to mean is :

ﬁiﬁmmmﬁmﬁﬁaﬁﬂﬁwm:
(1) += (2) -w 3) 1 (4) 0
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Which of the following is true ?
P % & P9-T W9 87

(1) XGM=(HMY) ) GM=VvXHM
@) X.GM=vHM 4) X.HM=JGM

¥ <M < Z is an indication of :

(1) Lock of Skewness (2) Positive skewness
(3) Negative Skewness (4) Kurtosis
T<M<z GO B :

(1) Toewar @ STHE PII Bl a CARE L LG
(3) FomeTs fereen (@) g

The measure of variation that is least affected by extreme observation

is:

{1} Range (2) Mean Deviation

(3) Standard Deviation (4) - Quartile Deviation
wmﬁaﬁﬂnﬁaﬁﬁqﬂwﬁaﬁﬁa@ﬁwﬁm%
(1) R {21 WA fa=e=

(3) "o e (4} =gds faaws

Coefficient of variation measures the :
(1) Attitude (2) Performance
(3) Sample (4) Consistency

37 P.T.O.
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96.

97.

98.

R \rgis qrgar & 7
(1) ==Eer (2) Frsares
(3) sftrest (4) wfer

The product moment coefficient correlation (y) is obtained by :

m-w@-mmquaﬁ:

RXY Txy
() S (2) N.zﬁ:;.ﬁ‘i’
XY Tx 3Y
(3) -N_E_Y- (4} SX 8Y

In a vegrenion line of ¥ an X, variable X is not known as :

(1) Independent variable (2) Dependent varigble
(3] Regresor (4) Explanatory variable
Y H® W X, Bgnhqm?@r%ﬁrqummw%?
(1) &= a7 2) PB3¥m =7

(3) R3gT (4) =TGRS Ty

In a bivariate regression if Byx <1 then B, will be :

(1} Less them 1 (2) Greater tham 1

(3) Equalto 1 (4] Equal to Zero
&l & gfeee ¥y wk g, < o By BF

(1) $wrd & am (2 € ¥ ==y

(3) %1 & Ty (4) 9 B TXET
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99. If two lines of reregressions are coincident, the relation between the

two regressions colfficients is :

T & gRTTE A @6 g § coincide WY SME AT HferwEA
Tomet & e e B

(1) Byx =ﬁ:n' (2) ﬂ'rx <Py
(3) ﬂn: =—Pyy (4)  Byx -Bxy =1

100. A good index number is one which satistics :
{1} Unit test
(2) Time Reversal test
(3) Factor Reversal test

{4) Time and factor Reversal test

o STEET g a8 ¥ o avgee Ban ¥
(1) &= e

(2) w99 IEpege g

(3) o Iwer RO

4 99 T e gerdT T

101. Time Revesal test is satishfied when :

q9 TEFER TOM0T | S & 1Y
(1) PO1xP10=0 {2) PO1x P10 =1
(3) POlxqlOo=1 (4) PO1xql0=0

39 P.T.O.
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102.For the given five values 15,24,18,33,42, the three years moving
averages are :

R 72 geat 15,24,18,33,42 ¥y adia sr-sm #hyr
(1) 19,22, 33 (2) 19,25,31
(3) 19,24,31 (4) 19,30,31

¥03.1n which distribution, mean and variance are equal :

(1) Uniform (2) Binomial
(3) Normal (4} Poisson

P B ¥ F Arm ob gET queT A ¥
{1} A"AHR (2) fage

(3) TEmE (4) wifgas

104.In a binomial distribution, the third moment is :

ooz est =1 el smget %
(1) npq (2} pgig-p)
(3) npq(q-p) (4} npglg + p)

108.The probability of getting out come of more them two spots in a single
throw of one six faced dice is :

El%ﬁﬂ%ﬂ%ﬂ%ﬁﬂiﬂﬂﬁﬁﬁfgﬂm
T @9 5 ot & 2

(1) 1/3 (2} 2/3 (3) 3/6 (4) 1/6

40
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106. Geometric Mean htis rigidly defined, based on all observations and
suitable for mathematical mampulation, but :

107,

(1)
(2)
{3
{4}

gives equal weightage to all observations
more weightage to bigger value
more weightage to smaller values

more easily understood and appreciated by non-mathematical
persons

WHMWWWW%WWW%
H aftaie fear oy §

(1)
(2)
(3)
(4)

oot uftrast Y avEy weawr & onh #
T g W ATg W oAeE g & S B
FH FA W IEG B F9 WEEW & o B

it Zrg At enerl & gumar ofe deafed aE-nfes
frar o 9ar B

Harmonic Mean is rigidly defined, based on all observations and
suitable for mathematical manipulation :

(1)
(2)
(3)

(4)

is easy to caloculate and understand
gives greater importance to bigger values

is especially used when smaller values have to be given more
importance
ie greatly affected by sampling fluctuations

o gitreet ofiT IugesT R IO & STUR 9Y s It B
gftefye Rram smer & ¢

(1)
{2)
{3}
{4}

T S O $ 91y
SOET od g S SRl HEw &
T F e TR TOIET e F Bl HH THE JERT

eel gfadw & ages uwE 8

41 P.T.O.
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108.

A box contains 6red, 5 black and 4 white balls. A person draws 4
balls from the box at random. The probability that there is at least

one ball of each colour in that lot is :

o T F 6 a@, SHT AT 4 qh% W ¥ wE =R 2 4 i e
] Pl ol ¥ @ 1 $ s T 8 5 geidwen b

(1) 0.33 2) 066 (3) 0.4748 (4) 0.5275

109. Sixty percent of the employees in a company are college graduates,

110,

Of these, 10 percent are in sales department, Eighty percent of non-
graduate employees are in sales. Probability that an employee picked
up at random is in sales is :

O T & 60% HHET o & 3§ 10% R Rwm & &
80% R o whard) Renr 7 ¥) o e & Redt | ¥R O
urafeveRaT ¥ -

(1) 0.18 (2) 0.82 (3) 0.38 4) 0.62

Expected value of a sum of random variables is :
(1) preduct of their values (2) average of their values
(3) sum of their expected values (4] sum of their average

= e & 9 @ At e B
(1) IeB I & TTTHA (2) S Awg o ShEw
(3) IuB gt Aeg W A (4) SEd ohww W a

43



18P/239/31

111. A random va;iab]e is also called a :

(1)

(3)

Discrete Variable (2] Continuous Variable

Stochastic Variable (4) Intergral Variable

Uh ew s 5t 95 o wer oy &

(1)

et ARdge (2) wg ARIww

(3) Wimiesw afrdeo (4) e AREEw

112, A continuous function defined aver a closed interval [A, B| wilt possess
the minimum value at point A :

{1
(2)
(3)
(4}

if dy/dx = 0 at A .
if dy/dx > O atA .

if the function is strictly increasing over the interval

if the fuction is nonp-decreasing at A

{A,B]ﬁ%@mﬂwaqﬁmwﬁgawm;

(1)
(2)
(3)
(4)

g% B A 9T dy/dx =0

A g A IR dy/dx >0

A BRI 10 S W v Fafves o 3

X g A 9 T AT omdd ¢

113. When determinant of a matrix is equal to zero the matrix will be :

{1}
(2)

(3]

(4)

an augmented one and row operations will help you inbert it

singular and underlying system of equations wilt admit a unique
solution

singular and it will not be possible to solve the system of
equations

system of equations will be compatible

43 P.T.O.
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mammaﬁ%mﬁaaﬁt'ms;ﬁﬁ-w%:
(1 ?ﬁlﬁﬁ%mﬁﬁﬁmvﬁrﬁm(ﬁmﬁmwm
|

(2) m%wmﬂﬁwﬁﬁmaﬁml
(3) Qﬁ:%_mmﬁaﬁwﬂwmﬁﬂaﬂﬁh
(4) TR, W B

114, An identity matrix has :
(1) identical numbers as elements

{2) numeral one at leading diagonal, rest of the elements can be
any real numbers

(3) numeral one at leading diagonal, rest of the elements are all

Zeroes
(4) zero at the leading diagonal, rest are all equal to one
O §HE SSgE H

(1w eEEE ' B ¥

2) S TF REOT O¥ gW oEEd of 1 AWl g W ofEEE W
FrE oft areafas doe fel ¥

(3) ﬁ?ﬂwﬁmmmmwmqwm

(@) TEd FEel Tl oEuE I g (0) aYT o WHl HA
I 3w 1 o #

118. Coefficient of correlatin measures

(1) tendency of two sets of data to mave together
(2} ratio of variances of two variables

(3) dependence between two variables
(4) difference between slope and intercept

44
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HET=Y T[T HIgar ¥

(1) I 998 & T B 9 Rraes 2
() % A= B R & orqure @y
(B) @ =T F iy s 8wy
(4 TER W I & fig ey Wy

116.In which of the following growth models human capital plays an
important role ?

(1} Neo classical Model

(2] Endogenous Growth Model
(3) Marxian Model

(4} Harrod-Domer Model

ﬁv=ririiﬂﬁa'Qﬂsxhu'qﬁﬁﬂiﬁfqﬁn;g?ﬁ:%<5n'ﬂ’ﬁavrqasnﬁﬁmgﬁ
U oaT Hean & -

(1) o F=nfree degw

(2} WS f dtew

(3) HERITT HAtew
(4) -7 Atea
117. Who developed the Physical Quality of Life Index (PQLI) ?
(1) Gadgil (2) Chakravarty
(3) Morris (4) Bhagwati

Refrne Fafordt oifes o adaw (MoFgoumroado) P zmy
Refa fBrar T

(I Trsfea (2) Ieraet

(3) g (4) =Edt

45 P.T.0O.
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118. Sen's measure of poverty includes :
(1) The Head Count ratio
(2) The Head Count ratio and the poverty-gap ratio
{3} The Head Count ratio and the distribution of income among the
poor

{4] ‘The Head Count ratio, the poverty-gap ratio and the distribiution
of income among the poor

{7 & THH Ao § whwfa ¥

(1) % B= wIa= A

@) =T ¥ Hew W ol gEed g

(3) = S FHra= WA I e B e awm F= EERT

(4) z ¥T FE= W TEd o W W o RS 9=
g ferTToT |

119. According to Solow, the long-run rate of growth in an advanced
economy equals Harrod's :

(1) Natural Rate of Growth

(2] Warranted Rate of Growth

(3) Actual Rate of Growth

{4) Warranted Rate of Technical Progress

ﬁﬁ%w@ﬁa@mﬂﬁmﬂwmﬂ%ﬂm
%ma’ﬁl%:

(1) g o GHRE T (2) =T T AME Aoy

(3) P & FRaaEE 4) arteE Y G 2w Ui

46
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120. Balanced growth means :
{1} Equal percentage growth in output in all sectors of economy
(2) Equalincrease in resources allocated in all sectors of the ecanomy
(3) Balanced development of different sectors of economy
(4) Equal development of different sectors of economy

qgfmE = @ sy
(1) edi=maear & R 8 &\ Ry

(2) ord=EEn # PRt @ & outm fw @ @ § g
(3) ovieraear & Rt 8w 7 dgfera R
(4} wdEREregr & R & 7 g B

131. Interaction between Multiplier and Accelerator leads to generation of
continous cyclical fluctuation, is stated by :

{1} Harrod - Domer (2) Kaldor - Mirlis

{3} Samuelson - Hicks (4) John Robinson- Sraffa
o PeRm afewrat o ofRder fgw 7 o ot
HEFUY, ¥ ©IT W ¢

(1) ¥z - e (2} FE=T - PR

(3) AgeET - e (4) ot ufemas ai%
133. Solow residual is a measure of :

(1) Total factor productivity (2) Technical Progress

(3) Degree of ignorance {4) None of the above

& Memge mwar ¥

(1) T F@E IWEHAT (2) GERfE Ty

(3) a3t offs wHI=T (4) Sude # wE ot

47 P.T.O.
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123,

124.

Consider the following assumptions :

{1) Production includes only wages and profit.

(2} Investment Production ratio is an independent variable.
(3) MPS and MPC are constants.

(4) These are below perfect employment.

Which of the above are true for Kaldor's growth model ?

(1) land1V (2} Nand I

(3) HiandIV (4] Tandll

FTTAEST & HIONET CHAEA

(1) I § daer wogd ol orw afwiva dar B

(2) fafwrr saEa sum 3 B s afidew

(3) oA @ ow T o @ Rt B

(4) ¥ goiar dormT B A 7

gui F @ 29 FrET 3 P dtew & agErR udt B
ny 1T v 2) "3 m

(3) I hTiv 4 13N

Consider some of the factors related to economic growth :

{1} Larger inputs leading to larger output

(2) Technical and institutional changes by which output is produced
(3) Level of efficiency and skill producing larger output

(4) Diversification of output

Of the above, economic grwoth includes

(1) i,iiiand iv {2} i and iii onty

{3} i, iiand iii (4) 1,1, iii and iv
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TS T % T vy Rdies g sanives g -

(1] AT §7ge M g ot omgege

2) éﬁqmwwmm%ﬁﬁﬁﬁamﬁﬁrﬁ@
(3) WWWW%WWW

(4) mﬁfﬁ%maﬁmeﬂw

SUMRT A & ol Rasre @ gfnfee & -

(1) i, i o iv @) iM% iii Faw

(3} 4, ii ST iji (4 i, ii, it 37 v

125.The hypothesis of 'vicious circle of poverty' points to inter-relation
betwen :

(1} Productivity and Income

(2) Inceme and Poputation

{3} Inflation and High Consumption

(4) Surplus labour adn disguised unemployment

"'ﬁfﬁfmmﬁammﬁ’aﬁﬁm%wmaﬁ ERIGHE
(1) IOresmar a7 Iy

2) #E T waEE

(3) HegRx ofit o awimr |

(4) o Aol v Remg Ao

126. Which one of the following aspects was NOT emphasized by Hirschman
in the theory of unbalanced grwoth ?

(1) Backward and Forward Linkages
(2} Direct productive activities

(3} Social averhead Capital

(4) Equilibrium in different sectors
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] ﬁm%ﬁmﬁaﬁwﬁﬂmﬁwﬁﬁaﬂﬁﬁsﬁ@
L £4 &t faar Tar @ ¢
(1) Tesr T omrET R (2) =wEe Srefra o
(3) e SRS HyEd 4) RfEr= dFd # 9

127. According to Marx, increase in the ofganic composition of capital leads
to:
(1) Increase in the rate of growth of economy
(2) Increase in employment i '
(3} Decrease in the rase of profit

(4) Increase in the rate of profit

'm%aw@%mﬁiﬁmﬁﬁmﬁqmnhﬁﬁmmﬁ:
(1) onfds feme &t = # 3l () e 7 gfe
@) @™ & 8T ° FREe (4) @ @ aC H g

128. Sustainable development addresses :
(1) The needs of the present generation
{2} The needs of future generation

(3) The needs of the present generation without compromising the
needs of the future generation

{4) The needs of the future generations, without compromising on
: the needs of the present gheneration .

TR Iaduiw geifa e ¥

(1} FEAT AL W AT

(2) wfrsy SR a TEYEEaL

(3) qfrey SFRYE B STETEEAT @ A (FY adEe e &
SEYIHAT H

(4) faeT oA St e sTreEEeRaT & et B wfes w
SsaE i Frafe
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129.Proper "Knife-edge" problem.refers to -
(1) g, =g,
(2) Independence of g and g
(3) Inherent instability of g, itself _
(4) Instability of g,and g_
ST IR g 36T g
(1) g, =g
(2) TR offF g olix g, ,
(3) FEYT T BRRE ot g sedew
4) RS oty B,and g,

130.Who developed the theory of technological dualism : -

{1} Benjamin Higgins ‘ (2) W.W.Rostow

(3] Kaldor (4) Keynes
'ﬁlﬁm%ﬁlﬁmﬁas@m’ﬁmﬁmmqﬁnﬁ;
(1} F= R (2) Ieg-s=g Ao

(3) T 4) Py

131, As per the 2nd advance estimates releaséd by Ministry of Agriculture
of February 18, 2015, production of total food grains during 2014-15
is estimated at :

ts.fﬁﬁﬁzms%@ﬁﬁmquwﬂnﬁ!ﬂfmﬁw
T B FTHR 2014-15 ¥ B W W SEAR o7

(1) 247. 1 million tonnes (2) 257.1 million tonnes
{3) 277. ! million tonnes (4] 237. 1 million tonnes
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132. Put the following in sequential arder of development :

(i Planning Commission @) Mahalanobis Model
(i) Plan Holiday (Iv] Rooling Plan
RreifE & STETC qT RS i HRETl e

11y AT SR  (2) AERAATRE HEA
@) == S (4 AT ==

{1} 0,IILIv (2} VI,

(3) 111,01,V (4) -1, LTV, I

133. Consider some of the following Acts 1o regulate industries and foreign
exchange in India :

(1) Foreign Echange Management Act

(2) Industrial Development and Reguaition Act

(3) Monopolies and Restrictive Trade Practices Act

(4) Foreign Exchange Regulation Act
Arrangmgtheahowmtsmchrmolngcalmder thccm'mctwqucnce i8
(1) ML, WVandl (2) II,MlLIVandl

(3) T,IV,11,andl 4y 1,1V, [andill

it # & g e & PR e S e Y P R Y
(1) faReh R e SR '

2 P Bem ok Tgee Al

(3 ot 9T ST A e s

@) PR RPEE TR sReE
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134, Which of the following statements is incorrect about the success of
economic¢ reforms in India ?

(1) Benefits of demographic diviends

(2) Increased share of corporate sector in Gross domestic Savings
(3] Decrease in deficit of Current account

(4) Slowing down of Population growth rate

W H it gaR A weee @ At § f-ar wes omw @
(1) 3fAfEe oftm Tife Rfdws

(2) ®H XY W F FRdte AW B W A gim

(3) =g @ W B B o war

(4) TEESA-5T Y HN\T HET

135. Components of Physical Quality Life Index are :
(1) Sickness
(2) Infant Mortality
(3) Life expectation at the age of one year
(4) Literacy at the age of fifteen years

FAA=E e R =it ae% 2w ane
(1) ReAa

(2) € FgE

3) % ¥ N I 9T SMeq oA

(4} T=E a¥ % IH 97 fAew a%

(1) LUl and IV are correct (2) I, IT and IV are correct
{3) 1,1 and 11 are correct (4} IV,1and Il are correct
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186. Which of the following are not component of BHARAT NIRMAN ?
(1) Rural Housing | (2) Rural Electrification
(3] Agriculture based Industries (4) Rural telephone Service

Rt # & A-ar W Pt o aw T8 ¥
(1) -mrfer S (2) swver R
(3} HRY MR IAT (4) #mfer T HE {4

137.Grass Root Planning refers to :
(1) Panchayti Raj
(2) Land Revenue System
(3) Community Development Programme
{4) Prominence to Sectoral Priorities

Prs wT AT EistE w8
(1) d=E TS - (2) &= = Reen
(3) A R deen (4 aiee g S B

138.Which one of the following is not a source of income in central finance
sanctioned by the constitution of India ?

(1) Corporation tax (2) Custom duty

(3) Income tax (4] Land Revenue

T ® drmETE g Pt & & #4990 R oo oW #
wieafera =dt frar T ¥

(1y P (2) *==H g

(3) FHHT 4) 9 I
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138.Pcint - out the correct order in which the following measures of
development were introduced :

(1) Per-capita Income, HDI,PQLI
{2) PQLI, HDI, P;:r—capita Income
(3] HDI, Per-capita Income, PQLI
(4) Per-capita Income, PQLI,HDI
Frifsd & Berma & o= 5t S99 afaaRe B2 oY & o o
7 s
(1) sftEmfE omg, g & o, & = o ond
2) 91w aw o, ua @ ond, o=t ey
(3 wE & o, sRmfE o, & w7 o end
(4) "t o, @ g oA o, o f) o

140. Maich the foilowing and select the correct answer from the code given :

Set-1 Set-II

(1} Rangrajan Committee Tax Reforms

(2) Narsimhan Committee Insurance Reforms

(3) Kelkar Committee Disinvesunent

(4] Malhotra Committee Financial Sector reforms
Codes :

a b c d
(1) i v i ii
(2] i 1 ii v
(3) i ii iii v

@) i i W i

5 5 ' | P- T.O.
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mm&yﬁ#ﬁaﬂﬁiymmﬁﬂﬁwww
i :

]E | e N
(1) OroeE afafy HL YU
(2) e affl &ar gar<
(3) wHwpy |faf R
(4) wesEn afEfR s &3 & garT

G :

a b c d
(1) i i ik
(2) i i ii v
@ i i i iv
(4) ii i w iii

141. Second Five Year Plan was hased on the model developed by :

(1) C.H. _Hunumatha Rao (2) P.C. Mahalanobis

(3) AK. Sen (4} K.N. Raj

facfr oo adfg @ e oo Fefym Atgs @@ A o -
(1) Q9. ST (2) o .+ e

(@) T @) d.oA. TR

142, Consumption sub-model was introduced in Indian Planning for the
first time in preparing which plan :

(1) ‘Third Plan (2) Fourth Plan

(3) Fifth Plan {4) Sixth Plan

Rrg Wl 3o 8§ S # a9 & RIS U9H O S 99
e W FOEg R T

(1) g Qo (2) wgd g

(3) e T - (4) s=dt g
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143.Match the following and select the correct answer from the codes

given :
Group - I Group -I1

(1) Revenue Deficit Government Borrowings from the RE

(2) Fiscal Deficit Revenue Expenditrue minus Revenue
receipts :

(3] Primary Deficit Fiscal deficit minus interest Payments

(4) Monetized Deficit - Total expenditure minus non-debt
receipts

Codes :

a b ¢ d
{1} ii v iii i
(2 i ii v iii
(3) i il iv i
{4) ii i ii v

ﬁwﬁﬁamﬁgﬁﬁfﬁﬁmwaﬁmﬁq

5~ 1 . WE-I
(1) T °Ey Y & ST § W/EET 2 REr T
2) fa=i=m e TS =g 921y Tore mik
(3) "EEd FwifHe Rref aeT T2l = grae
4) HreEETE 3w T O v & agH B Sewne gy

a ] ¢ d
(1} ii v iii i
(2) i ii v iii
(3) i iii v i
(4) i i i v

57 P.T.O.



15P/239/31

144, Which one of the fallowing is NOT a measure of Globalizatinn. ?

(1) Reducing peak rate of customs duty
{2} Size of inflows of foreign institutional investments in a country
(3) Disinvestment of public sector equity

{4} Larger foreign aid

Rrsapifr & i Aherrer @ T T B

(1) W T A Femew I H ST

(2) g1 A sl derm PRAw & dFE @ iR HE

(31 gAY 8 & ol & RFEe wE

@) =31 RRsh argEem wEE

145.The first Industrial Policy Resolution was presented in :

qeen il fafy esRer few ad § wwEga FRwr T ewm
(1) 1947 (@) 1948 (3) 1949 (4) 1950

146. Which of the following is not the main head of expenditure of the
central gavernment ?

(1) Defence expenditure (2) Interest on loans

(3) Grants-in-aid {4) Public health

Prer # @ 2 S0 G0HT & ge8 =G & oidw et ¥ 7
(1) guar =9 (2) FOT 9T WA
(3) g (4) WTEATTE |
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147.Which of the following is a direct method of reducing economic
inequalities ?

(1) estate duty (2) wealth tax

(3] capital gains tax (4) ceiling on holdings

i RS & &9 w0 @ dndt Rl S &

(1) FRT A (2) FERY ax

(3) dfew = T (4) ¥ o B
148.The highlest area under irrigation is in the state of :

(1) Uttar Pradesh (2) Bihar

(3) Andhra Pradesh - (4) Punjab

a8 e RifaT 8w By g & ¥

(1) TeET waw (2) Rsx

(3] T wder (4) Some

149.The maximum area under crops in India is used for the cultivation of :

(1) Wheat (2) Rice
(3) sugarcane (4) Cotten

o ¥ PR O @ Siend wEd e S & A o B
(1) % (2) =E

(3) =T {4) HAE
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150. Devaluation of rupee r'nakes :
{1} Indian goods cheaper to Indians
(2) Indian goods dearer to Indians
(3) Indian goods cheaper to foreigners
(4) Indian goods dearer to foreigners
07 # fEe 99w ¥ |
(1) A Feg 9 & R e
(2) W gy At g R
@) =i Feg Rt $ R awh
(4) wredlig aeg RREE & B BEwR

60 . 2,500
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ROUGH WORK
TR e
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ROUGE WORK
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ROUGH WORK
% Fd
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